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You should place your Admission Form on your desk for the whole session.
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During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.
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Contestants should finish all questions in this 45-minutes written test.
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Write your name, admission number, seat number and school name on the front cover of your answer
sheet.
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You can only use the rough work sheet provided by the organizer.
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The use of calculators is NOT allowed.

FHEPFEEFED A RELZFHAL > FR A=A 2FF T FHEBFEHA

Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.
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Each answer must be given as an integer between 0 and 9999. In case of an answer less than 1000,
leading zeros should be included to make up four digits.
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Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.
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Any contestant who violates the rules and regulations of the competition might risk disqualification.
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If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

queries will not be entertained. The decision of the organizing committee will be final.
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el F oo ko] B oo (16 %)
Divide k cookies among 200 students such that each student receives at least one cookie and

no four students obtain same number of cookies. Find the least value of k. (16 marks)
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It is known that X and Y are positive integers such that X2 —Y? = 2024, find the greatest value

of X. (16 marks)
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A book has a total of 600 pages. On the first day, you read % of the book, and on the second

day, you read 1 of the remaining pages. How many pages did you read on the second day?

(22 marks)
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Find the number of simplified proper fractions with denominator equals 72. (24 marks)
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There is a batch of candies, and it is known that the total number is more than 500 pieces. If
divided among 5 people, there is 1 candy left; if divided among 10 people, there is also 1 candy
left; but if divided among 13 people, there are 3 candies left. What is the minimum number of
candies in this batch? (24 marks)
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The mean of four positive integers is 2023. If one of the numbers is replaced by 4, then the new

mean is 1518. What is the original number which is replaced by 4? (20 marks)
3% a=(202320242021)(202320242025) —(202320242020)(202320242026) > F-a -

(24 #)
Find the value of a if
a =(202320242021)(202320242025) — (202320242020 (202320242026 ) (24 marks)
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Mark has some number of apples and bananas. It is known that the total number of those fruits is
between 100 to 200 initially and the ratio for the number of apples to the number of bananas is

8 : 5. Then he randomly eats two of them each day, but not necessarily of the same kind. On the

3rd day, after he eats two of them, the ratio becomes 7 : 4. How many apples and bananas in total

does Mark have initially? (30 marks)
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The outer circle has radius 3 cm. The white region is outlined by half circles whose radii are 1 cm
and 2 cm and whose centres lie on the same diameter of the outer circle, as shown in the figure.

Find the area of shaded region. (Take © = 3.) (30 marks)
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It is given that P, Q, R are the three points on a circumference of a circle. If PQ is the diameter of

the circle, then angle PRQ must be a right angle. Now we equally distribute 12 points on a

circumference of a circle, and label the points by 1, 2, 3, ..., 12 clockwisely. If the numbers

labeled on the points are not coprime, then the points will be joined by a straight line. After

joining the points by the straight line, how many right angle triangles will be formed by using

that 12 points as its vertices? (28 marks)

4 4 4
, . a“+b"+c o
# a+b+c=0 2 azb#c#0 > & 55555 PiE - (28 &)
a‘bh“+b°c”+ca

¢ dr (X+y)Y =X +2xy+y°

y y+y

a*+b* +c*
a’h® +b’c* +c’a®’

If a+b+c=0 and a=b=#c=0, find the value of

(Given that (X+Yy)* = x*+2xy + y?) (28 marks)

3 4HA1PEE Group Event




12.

13.

14.

15.

/IN7S4H Primary 6

Yolfl 0 A RS A L S Gomo P B A E S Som e R IEEIA a R S

cm? ? (32 &)
Refer to the figure. The side length of the large square is 6 cm and the side length of the small
square is 5 cm. Find the area of the shaded region, in cm? . (32 marks)
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a . e .
is a positive integer, then a is called the "secondary

For any positive integers a and b. If
a+1

factor" of b. For example, 7 is a factor of 47 (% = 5 is a positive integer). What is the sum of
+

all "secondary factors" of 2023? (36 marks)

B¥ ABCD f:#%£ 5 12cment » Ao F 4o F & W E_AB v BC ¥ B 4F 22 CE #p

23 G o fow 75 AGCD 5 F o (34 &)
ABCD is a square of side 12 cm. E and F are the mid-points of AB and BC respectively. AF and
CE intersect at G. Find the area of the quadrilateral AGCD. (34 marks)
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Car A and car B depart from C and D respectively at the same time and travel towards each other.
They meet after 7 hours, and then continue driving at the original speed for 2 hours. Car A is now
240 meters from D and Car B is 360 meters from C. How many meters are C and D apart?

(36 marks)
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